
We reserve the right to change details of design, materials and finish.

Lighting Systems IS-LPW 

F

RETAIN THESE INSTRUCTIONS FOR MAINTENANCE REFERENCE.

Soft mallet hammer

LPW1T8

LPW1T5

LPW1BX

LPW2T8

LPW2T5

LPW2BX

8.00” (20.32cm)

3.00”
(7.62cm)

2.50”
(6.35cm)

0.25”(0.64cm)
0.25” (0.64cm)

PERF
3.35" (8.51cm)

8.00” (20.32cm)

3.00”
(7.62cm)

2.50”
(6.35cm)

0.25”(0.64cm)
0.25” (0.64cm)

PERF
3.35" (8.51cm)

8.00” (20.32cm)

3.00”
(7.62cm)

2.50”
(6.35cm)

0.25”(0.64cm)
0.25” (0.64cm)

PERF
3.35" (8.51cm)

8.00” (20.32cm)

3.00”
(7.62cm)

2.50”
(6.35cm)

0.25”(0.64cm)
0.25” (0.64cm)

PERF
3.35" (8.51cm)

8.00” (20.32cm)

3.00”
(7.62cm)

2.50”
(6.35cm)

0.25”(0.64cm)
0.25” (0.64cm)

PERF
3.35" (8.51cm)

8.00” (20.32cm)

3.00”
(7.62cm)

2.50”
(6.35cm)

0.25”(0.64cm)
0.25” (0.64cm)

PERF
3.35" (8.51cm)



We reserve the right to change details of design, materials and finish.

Lighting Systems IS-LPW 

F

TABLE OF CONTENTS

 ................................................................................................................................3

 .......................................................................................................................................

 .........................................................................................6

. ............................................................................

 ......................................................................................................................10



We reserve the right to change details of design, materials and finish.

Lighting Systems IS-LPW 

F

SAMPLE PART LIST

REFLECTOR

HOUSING

WALL MOUNT BRACKET

BULK HEAD
END-CAP

JOINER STRAP
JOINER BRACKET

SCREWS 8-32



We reserve the right to change details of design, materials and finish.

Lighting Systems IS-LPW 

F

SAMPLE RUNS

49” (124.46cm) MODULE

49-1/2" (125.73cm) O.A.

40” (101.60cm) MOUNTING

FIXTURE

END-CAP

98” (248.92cm) MODULE

98-1/2" (250.19cm) O.A.
FIXTURE

END-CAP
80” (203.20cm) MOUNTING

5.100” (12.95cm)

0.5” (1.27cm) DIMPLE WITH
0.187” (0.47cm) HOLE IN CENTER 1/4-20x1/2 STUDS

(USED TO ATTACH FIXTURE
TO MOUNTING PLATE)

3.275” (8.32cm)

2.500”
(6.35cm)

1.250”
(3.18cm)

2.000”
(5.08cm)

3.500” (8.89cm)



We reserve the right to change details of design, materials and finish.

Lighting Systems IS-LPW 

F

SAMPLE RUNS

END-CAP FIXTURE FIXTURE END-CAP

80” (203.20cm) MOUNTING

18”
(45.72cm)

196-1/2” (499.11cm) O.A.

80” (203.20cm) MOUNTING
98” (248.92cm) MODULE 98” (248.92cm) MODULE

END-CAP FIXTURE END-CAP

80” (203.20cm) MOUNTING

245-1/2” (623.57cm) O.A.

80” (203.20cm) MOUNTING 40” (101.60cm)
MOUNTING

98” (248.92cm) MODULE 98” (248.92cm) MODULE
49” (124.46cm)

MODULE

FIXTURE

18”
(45.72cm)

13-1/2”
(34.29cm)



We reserve the right to change details of design, materials and finish.

Lighting Systems IS-LPW 

F

WALL MOUNT BRACKET

MOUNTING BOLTS TO WALL

PHASE 1 - MAKING THE STARTER FIXTURE

1. 

Figure 1

Figure 2

REFLECTOR

2. 



We reserve the right to change details of design, materials and finish.

Lighting Systems IS-LPW 

F

PHASE 1 - MAKING THE STARTER FIXTURE (CONT’D)

Figure 3 Figure 4

3. 

ASSEMBLED END-CAP
BRACKET TAB

STARTER FIXTURE STARTER FIXTURE

SCREW 8-32

6. 
7. 



We reserve the right to change details of design, materials and finish.

Lighting Systems IS-LPW 

F

PHASE 2 - MAKING THE INTERMEDIATE FIXTURES

1. 

Figure 5

Figure 6

2. 
3. 

JOINER COVER

STARTER FIXTURE

NEXT FIXTURE (BULK HEAD)

2 SCREWS 10-32

2 HEX NUTS2 HEX NUTS



We reserve the right to change details of design, materials and finish.

Lighting Systems IS-LPW 

F

JOINER COVER

JOINER COVER

2 SCREWS 8-32

PHASE 2 - MAKING THE INTERMEDIATE FIXTURES (CONT’D)

6. 

7. 

Figure 7

Figure 8



We reserve the right to change details of design, materials and finish.

Lighting Systems IS-LPW 

F

PHASE 3 - END FIXTURE

1. 
2. 
3. 

REFLECTOR

Figure 9


